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Note : Answer questions from all the Sections as per

instructions.

Section—A

Note : Attempt any two questions from this Section.

2x20=40

1. What is meant by primary data ? Describe the
methods of collection of primary data.

2. Define correlation coefficient. What are its
properties ? Calculate correlation coefficient from
the following data :

n = 10, XX = 125, X2 = 1585,
>Y =80, Y2 =650, = XY = 1007.

P.T.O.
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Describe the properties of standard normal
distribution. What are its applications ?

What is meant by sampling ? Describe the
methods of probability sampling.

Section—B

Note : Attempt any four questions from this

10.

11.

Section. 4x12=48

Describe how data can be presented by various
types of diagrams.

Explain how moving average method can be
used to measure trend in a time series.

The probability that a machine produces a
defective item is 0.2. If 5 items produced by the
machine are selected at random, find the
probability that at least 3 items are defective.

Bring out the factors you will take into account
for determination of sample size.

Describe the steps you will consider while
designing an index number.

What is mean by skewness ? Explain how it is
measured.
Part—C

Write short notes on any two of the following :
2X6=12

(a) Desirable properties of a good estimator

(b) Interval estimation

(¢) Uses of a life table

(d) Time reversal test
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